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1 Modélisation d'une paroi : Mur en pierres

1-1 Instrumentalisation du modèle :
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1-2 Le modèle de la paroi :
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1-3 La simulation :

 (
Déperdition =
Puissance perdue =
Epaisseur mur =
λ
pierre
 =
Surface = 
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2 Modélisation d'une paroi : Mur en pierres avec isolation intérieure

2-1 Le modèle de la paroi :

	Justification Modèle de mur : _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ 
2-2 La simulation :

 (
Déperdition =
Puissance perdue =
Epaisseur mur =
λ
pierre
 =
Epaisseur Poly =
λ
p
oly
 
 
 =
Surface = 
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3 Modélisation d'une paroi : Mur en parpaings avec isolation intérieure

3-1 La simulation :
 (
Déperdition =
Puissance perdue =
Epaisseur mur =
λ
mur
 =
Epaisseur BA13 =
λ
ba13 
 
 =
Epaisseur laine R =
λ
laine
 
 
 =
Surface = 
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4 Modélisation d'une paroi : Mur et fenêtre
4-1 La simulation :
 (
Déperdition = 
Puissance perdue = 
Epaisseur mur
λ
mur
 = 
Epaisseur BA13 =
λ
ba13 
  = 
Epaisseur laine R = 
λ
laine
 
  = 
Surface mur = 
Epaisseur fenêtre =
λ
fen
 = 
Surface fenêtre = 
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5 Conclusion : 
 (
Surface des murs
 = 
Surface de fenêtres
 = 
Déperdition = 
Puissance perdue = 
Pertes financières =
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6 Modélisation du volume habitable: 

	Puissance perdue = 
	Pertes financières =
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Conductive Heat Transfer

“This block models heat transfer in a thermal network by conduction through a layer of material. The rate of heat transfer
s governed by Fourier's law and is proportional to the temperature difference, material thermal conductivity, area
normal to the heat flow direction, and inversely proportional to the layer thickness.

‘Source code

Settings

Parameters | Variables

Area: s 2 -
Thickness: E_Pierre m -
) -

‘Thermal conductivity: L_Pierre
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Convective Heat Transfer

“This block models heat transfer in a thermal network by convection due to fluid motion. The rate of heat transfer is
proportional to the temperature difference, heat transfer coefficient, and surface area in contact with the fluid.

‘Source code

Settings

Parameters | Variables

Area: s mr2

Heat transfer coefficient: 2 W/(mA2 * K)
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